Homework Set 33C
PH 113 – 10
Q1.	If you sit on the beach and look at the ocean through polarized sunglasses, the glasses help to reduce the glare from sunlight reflecting off the water.  But if you lie on your side on the beach, there is little reduction in the glare.  Explain why there is a difference.


P1.	Unpolarized light with intensity I0 is incident on two polarizing filters. The axis of the first filter makes an angle of α = 60° with the vertical, and the axis of the second filter is horizontal.  What is the intensity of the light after it has passed through the second filter?  Express your answer in terms of I0.



P2.	A beam of unpolarized light of intensity I0 passes through a series of ideal polarizing filters with their polarizing directions turned to various angles as shown in the figure below.  (A) What is the light intensity (in terms of I0 ) at points A, B, and C?  (B) If we remove the middle filter, what will be the light intensity at point C?
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P3.	A parallel beam of unpolarized light in air is incident at an angle of 54.5° (with respect to the normal) on a plane glass surface. The reflected beam is completely linearly polarized.  (A) What is the refractive index of the glass?  (B) What is the angle of refraction of the transmitted beam?


P4.	The refractive index of a certain glass is 1.66.  (A) For what incident angle is light reflected from the surface of this glass completely polarized if the glass is immersed in air?  (B) For what incident angle is light reflected from the surface of this glass completely polarized if the glass is immersed in water?
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